
DESIGNED BY, AND BUILT FOR CLUB PROFESSIONALS SINCE 1989

CLUB CAR RAIL ENCLOSURE INSTALLATION

Step 1

Step 3

Step 2

800.467.2844  info@clubpro.com augusta, ga  deer park, ny  detroit, mi  louisville, ky  santiago d.r.

www.clubpro.com 

Front canopy bolt with 3 inches of rail 
forward of the bolt.

Rear grab handle bolt with ½ spacer 
between rail and handle.

Center the 18-inch rail on the inside of the 
“tab” on the inside of the canopy and mark 
holes for drilling approximately 2 inches 
from each end. Drill ¼ holes at each 
marked location. Transfer drill holes from 
the rail into the tab. Secure the rail with 
the bead facing inside the cart with the 
supplied M6x20 bolts with flat washers 
under the head and the M6 nylock nuts.

Step 4

Replace the factory windshield extrusions 
with the new supplied parts, secure with 
factory hardware. 

Step 5

Secure the front panels to the new 
windshield extrusions by pressing the 
rubber channel onto the tab on the 
backside of the extrusion. 

Wrap the Velcro straps around the front 
uprights and secure back onto the 
panel. Slide the side and rear 
panels into the rails and zipper 
panels to each other. 

Hold the 43-inch-long rail up to the cart with 3 
inches extending past the forward canopy 
mounting bolt. Mark the location of this bolt on 
the rail. While holding the rail in place mark 
the location of the rear canopy grab handle 
bolt on the rail. Drill a ¼ hole in rail at both 
marked locations. Install the rail on the cart 
using the supplied M6x60 bolt with a flat 
washer under the head from the inside of the 
cart. Use a ½ inch spacer between the rail and 
the cart. Secure with an M6 nylock nut.



DESIGNED BY, AND BUILT FOR CLUB PROFESSIONALS SINCE 1989

CLUB CAR RAIL ENCLOSURE INSTALLATION

Step 6

800.467.2844  info@clubpro.com augusta, ga  deer park, ny  detroit, mi  louisville, ky  santiago d.r.

www.clubpro.com 

Attach the adhesive snap onto the snap on the 
front panel. Use the panel to approximate the 
location the snap will attach to the rocker 
panel. Clean the rocker panel and allow to dry. 
Apply the 3M adhesive primer to this area and 
allow to dry. With the snap still attached to 
panel expose the adhesive backing and set in 
place using the panel as a locating guide. 
Keep pressure on the snap for 60 seconds. 
Allow the snap adhesive to set for 24 hrs. 
without disturbing. 

SUPPLIED HARDWARE
M6x60 SS bolts x4      
M6x20 SS bolts x2          
M6 flat washers x6
M6 nylock nuts x6    
½ inch spacers x4       
Adhesive snaps x2          
 Primer stick 1pc
43-inch rail x2           
18-inch rail 1pc           
Windshield extrusion L/R


	club_car_rail_enclosure_installation_1
	club_car_rail_enclosure_installation_2

